
Answer Key

1. B- People can be 'in discussion', but a topic is 'under’ discussion debate' or 'a
source of argument. Here, the word dispute is correct because the meaning of the word
refers to “difference in opinion”, and according to the text, there is no agreement on the
function of sleep. Debate is not correct because scientists are not actively debating the
topic.

2. D- 'Precisely' collocates with 'why' in a way that none of the other adverbs do.

3. A- 'Functions' and 'purposes' are often used together when
describing a particular phenomenon in science or society.

4. B- 'Maintain' collocates with 'health' and other adjectives such
as 'warrnth' or 'tidiness' with the meaning of preserving in that condition .

5. C- 'Full' collocates with words like 'efficiency', 'power' or 'impact'
to give the idea of 'total' or 'complete' .

6. D- The other words do not fit the meaning here - you 'acquire information' through
reading or talking to other people, you 'achieve' or 'reach' a goal of some sort, and you
'complete' a task of some kind.

7. C- Only 'based' is followed by 'on'.

8. A- 'Moments' is too short and 'eras' too long a period of time to fit here, while
'episodes' is used about usually negative events in a series, e.g. 'episodes of
madness/fainting/violence'.


